Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

To Company Name/Scheme ELMO SOFTWARE LTD

ACN/ARSN/ABN 13 102 455 087

1. Details of substantial holder (1)

Name JPMorgan Chase & Co. and its affiliates

ACN (if applicable) NA

The holder became a substantial holder on 21 May 2021

2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

Class of securities (4)	Number of securities	Persons' votes (5)	Voting power (6)
Ordinary	4,483,924	4,483,924	5.03%

3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities	
J.P. MORGAN SECURITIES PLC	Rehypothecation of client securities under a Prime Brokerage Agreement	4,354,220 (Ordinary)	
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Purchase and sales of securities in its capacity as Principal/Proprietary	129,704 (Ordinary)	

4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Class and number of securities	
J.P. MORGAN SECURITIES PLC	Citi Australia	Various Client and Custodian	4,354,220 (Ordinary)	
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Ecapital Nominees Pty Ltd	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	129,704 (Ordinary)	

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideration (9)		Class and number of securities
		Cash Non-cash		
See Appendix				

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

Name and ACN (if applicable)	Nature of association
J.P. MORGAN SECURITIES PLC	Subsidiary of JPMorgan Chase & Co.
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Subsidiary of JPMorgan Chase & Co.

7. Addresses

The addresses of persons named in this form are as follows:

Name	Address		
JPMORGAN CHASE & CO.	383 Madison Avenue, New York, New York, NY, 10179, United States		
J.P. MORGAN SECURITIES PLC	25 Bank Street, Canary Wharf, London, E14 5JP, England		
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	LEVEL 18, 83-85 CASTLEREAGH STREET, SYDNEY, NS, NSW 2000, Australia		

Signature

Print name James Goodfellow

Capacity Compliance Officer

Sign here of Goodelland

Date <u>03 June 2021</u>

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B (7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- (6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (7) Include details of:

- (a) any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
- (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired

TRADES FOR RELEVANT PERIOD						Appendix
Transaction Date Balance at start of relevant period	Entity	Product Type	Type of Transaction	Quantity 420,209	Price (AUD)	Consideration
22-Jan-21 22-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(4,784) (264)	7.16 7.19	
22-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	772	7.18 7.19	\$ 5,544.93
22-Jan-21 25-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	14,942 24,444	7.11	\$ 173,894.40
25-Jan-21 25-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(5,351) (1,649)	7.13 7.10	
25-Jan-21 27-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	1,286 (5,649)	7.09 7.06	\$ 9,112.47 \$ 39,889.77
27-Jan-21 27-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(8,381) 7,317	7.07 7.09	\$ 59,266.11 \$ 51,875.09
27-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	15,499	7.05	\$ 109,267.10
28-Jan-21 28-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	4,854 (7,429)	6.68 6.77	\$ 32,406.31 \$ 50,269.78
28-Jan-21 28-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	2,465	6.80 6.65	\$ 54.40 \$ 16,381.00
28-Jan-21 28-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	8 (6,012)	6.80 6.68	\$ 54.40 \$ 40,178.44
29-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Sell	(6,372) (713)	6.85	\$ 43,635.24 \$ 4,827.65
29-Jan-21 29-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(8)	6.77 6.64	\$ 53.12
29-Jan-21 29-Jan-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	2,178	6.70 6.64	\$ 14,603.20 \$ 53.12
1-Feb-21 1-Feb-21	J.P. MORGAN SECURITIES PLC J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Borrow Return Sell	(50,000) (6,378)	6.54	\$ - \$ 41,691.40
1-Feb-21 1-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	8	6.59 6.59	\$ 52.72
2-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(7,031)	6.76	\$ 47,526.25
2-Feb-21 2-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(8)	6.68 6.68	
2-Feb-21 2-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(191) (5,680)	6.68 6.75	\$ 1,275.92 \$ 38,366.55
3-Feb-21 3-Feb-21	J.P. MORGAN SECURITIES PLC J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Borrow Sell	25,000 (4,712)	- 6.77	\$ - \$ 31,885.85
3-Feb-21 3-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(8)	6.82 6.82	\$ 54.56
4-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(4,689)	6.72	\$ 31,518.89
5-Feb-21 8-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(5,036) 11	6.81 6.87	\$ 75.52
8-Feb-21 8-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(4,455) (541)	6.86 6.88	\$ 30,552.26 \$ 3,720.08
9-Feb-21 9-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(443) (4,155)	6.70 6.70	\$ 2,966.31
10-Feb-21 10-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	1,559	6.57 6.63	\$ 10,238.63
11-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(4,626) (4,567)	6.43	\$ 29,364.08
11-Feb-21 12-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	84 (4,960)	6.41 6.44	\$ 538.44 \$ 31,940.04
12-Feb-21 15-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(642) (4,393)	6.44 6.27	
16-Feb-21 17-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(4,055) (4,622)	6.51 6.10	
18-Feb-21 19-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES PLC	Equity Equity	Sell Borrow	(4,950) 30,000	6.07	\$ 30,054.74
19-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(5,488)	6.01	\$ 32,975.79
19-Feb-21 22-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(182) (2,575)	6.03 5.87	\$ 15,108.52
22-Feb-21 22-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(63,279) 3,009	5.69 5.72	\$ 359,935.76 \$ 17,208.63
22-Feb-21 23-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES PLC	Equity Equity	Sell Borrow	(2,395) 30,000	5.65	\$ 13,531.75 \$ -
23-Feb-21 23-Feb-21	J.P. MORGAN SECURITIES PLC J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Borrow Return Sell	(30,000) (405)	- 5.44	\$ - \$ 2,204.58
23-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,430)	5.41	\$ 13,153.73
23-Feb-21 24-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	840 8	5.42 5.22	\$ 4,552.80 \$ 41.76
24-Feb-21 24-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	(2,497)	5.22 5.21	\$ 41.76 \$ 13,004.64
25-Feb-21 25-Feb-21	J.P. MORGAN SECURITIES PLC J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Borrow Return Sell	(2,373) (3,049)	- 5.15	\$ -
25-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Sell	(8)	5.21 5.21	\$ 41.68
25-Feb-21 26-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	(8) 8	5.20	\$ 41.60
26-Feb-21 26-Feb-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	8 (4,441)	5.20 5.09	\$ 22,584.56
26-Feb-21 1-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(14,648) 77	5.14 5.10	\$ 75,263.96
1-Mar-21 1-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	77 (192)	5.10 5.19	\$ 392.70
1-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(3,798)	5.21	\$ 19,777.66
2-Mar-21 2-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(4,639)	5.35 5.46	\$ 49.14
2-Mar-21 2-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	(6,633)	5.46 5.35	\$ 35,466.05
3-Mar-21 3-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(1,150) 88	5.46 5.23	\$ 6,279.00
3-Mar-21 3-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	1,150 (1,880)	5.24 5.17	\$ 6,026.94
3-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	88	5.23	\$ 460.24
4-Mar-21 4-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(5,409) 4,104	5.00 5.03	\$ 20,660.56
4-Mar-21 4-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(182) (182)	4.98 4.98	\$ 906.36
5-Mar-21 5-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(5,958) (1,452)	4.84 4.87	\$ 28,864.29
5-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	4,882	4.80	\$ 23,451.01
8-Mar-21 8-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(3,792) 7,032	5.02 4.88	\$ 34,316.13
9-Mar-21 9-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	135 (2,818)	4.98 4.93	\$ 13,878.88
9-Mar-21 10-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(13,276) (1,425)	4.99 5.15	\$ 66,247.51
10-Mar-21 15-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(1,361) 84	5.22 5.17	\$ 7,109.34
16-Mar-21	J.P. MORGAN SECURITIES PLC	Equity	Borrow Return	(25,000)	-	\$ -
16-Mar-21 16-Mar-21	J.P. MORGAN SECURITIES PLC J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Borrow Return Sell	(27,627)	5.10	\$ - \$ 5.10
16-Mar-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	372	5.10	\$ 1,897.20

PROD_	TRADES FOR RELEVANT PERIOD						At	pendix
1.5 1.5	17-Mar-21						5.02 \$	8,915.52
A No. 51 1.0 A No. 50 Committee Activate and the second secon								34,926.58
Section 1								2,938.14
3 10.0.2. 1 10.000 CONTROLLED STORT					Sell			10,200.84
Section Sect								48,754.04
School	23-Mar-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED		Buy	1,852	5.03 \$	9,315.81
Stock 10 10 10 10 10 10 10 1						(1,571)		
SPACES 1.0 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.0000000000	25-Mar-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(572)	5.15 \$	2,947.66
B. B. C. 1.1. 1.5								9,088.17
Section Sect	29-Mar-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(1,318)	5.13 \$	6,763.44
Street 1.5 Street Street Street Street Street Street Stre								1,036.84 8 797 02
3.5 40-21 1.5 40-000 MICHAEL MURTHER 50-10 1.0	30-Mar-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(1,501)	5.15 \$	7,725.86
1.16-2-1 1.4 MOCH STEPHER LINETS 560								1,315.24 7 234 44
1.462 1.46000 1.6000	31-Mar-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED			126	4.90 \$	617.49
C-642-11								4,345.92 7.058.12
1.4 1.5	6-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Buy	987	5.11 \$	5,045.83
2-46-21								9,847.72 5 400 15
Dep-12	7-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(1,110)	5.17 \$	5,742.23
Pubmit 1.0 Pubmit SCONTINE ADDITION ADDITI								4,931.70 8,557.24
Sept. 1.00	9-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(2,618)	5.36 \$	14,032.48
1-00-02 1.2 1.5								2,435.38 16,559.48
9-96-21 3.1 PROFESS SCORTES ASSTRAIN LIVETIDE Coulty See C.1.149 S.33 s. 5-50-21 1-7-22 3.1 PROFESS SCORTES ASSTRAIN LIVETIDE Coulty See C.1.590 S.54 s. 5-50-21 1-7-22 3.1 PROFESS SCORTES ASSTRAIN LIVETIDE Coulty See C.1.590 S.54 s. 5-50-21 1-7-22 3.1 PROFESS SCORTES ASSTRAIN LIVETIDE Coulty See C.1.590 S.54 s. 5-50-21 1-7-22 1-7	9-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Buy	7,753	5.29 \$	40,983.68
1.34x21								122.13 5,962.86
1344271	12-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Buy	85	5.43 \$	461.55
DAMP-21 D.P. MORGH SCURITTE ARTENALA DITTED Early Sell (1,000) 5-01 1								6,205.10 8,945.16
1-46x2-21	13-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(1,092)	5.61 \$	6,124.80
14-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,709) 5.07 \$ 1,178.5 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,707) 5.07 \$ 4,125.5 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,137) 5.09 \$ 6,470.7 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,130) 5.00 \$ 1,275.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,200) 5.00 \$ 1,275.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (4,00) 5.04 \$ 2,275.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (4,00) 5.04 \$ 2,275.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (4,00) 5.04 \$ 2,275.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 1,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 1,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 5,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 5,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 5,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 5,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 5,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 5,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 5,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 1,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 1,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 1,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (1,00) 5.00 \$ 1,000.1 13-Apr-21 J.P. ROGAM SCORTTES ARTHALALDETED Equity Sell (7,509.45 1,325.20
13-Apr-21	14-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(2,079)	5.67 \$	11,785.95
13-49-21 J.P. MORGAN SCRUTTES ASTROMAL METER SQUITY								4,121.60 2,625.21
19-Ae-21 3.P. MERGAN SECURITIES ALTERNAL METERS Equity But 4-322 5.66 6 2-4-4444								6,470.29
19-Apr 21 3.1 PROGRAM SECURITES AUSTREAL AUSTRED Equity Sept C7503 5.58 5 4.27351								7,931.81
20-04tr-21 3.2 MPRICAM SECURITES AUSTRALA ENTERD Equity Sell (7-03) 5.57 8 4.1955		J.P. MORGAN SECURITIES	AUSTRALIA LIMITED					2,763.05
20-Apr 21 3.1 PROGRAM SECURITES ANSTEALA IMPTED Equity Sel (1,002) 5.66 8 5.973.1								418.50
214 or 21 J.P. MORGAN SCOURTIS ANSTRALA LIMITED Equity Sell (662) 5.55 8 1,225		J.P. MORGAN SECURITIES	AUSTRALIA LIMITED			(1,052)	5.68 \$	5,973.79
21-4pc 21								1,410.08
22-46-21 J.P. MORGAM SCURITIES AUSTRALA LIMITED Equity Sell (701) 5.56 \$ 3,999-1							5.55 \$	3,785.10
224m-21								2,393.28 3 959 48
26-Apr-21	23-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED			(550)	5.57 \$	3,064.05
26-Apr-21								1,198.40
27-Apr-21	26-Apr-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(579)	5.50 \$	3,184.50
27-Apr-21								3,654.72 3 648 97
29Apr-21		J.P. MORGAN SECURITIES	AUSTRALIA LIMITED				5.63 \$	26,309.31
29Apr.21								3,722.92 9,658,67
30 Agr. 21 3.14 MORGAN SECURITES AUSTRALIA LIMITED Equity Sell (251) 5.57 \$ 2,512.(3.14 3.14		J.P. MORGAN SECURITIES	AUSTRALIA LIMITED					3,401.66
3-May-21 J.P., MORGAN SCURITES AUSTRALLA LIMITED Equity Buy 2,085 5,66 \$ 1,681.8								31,361.69 2 512 07
A-May-21 J.P., MORGAN SCURTIES AUSTRALIA LIMITED Equity Sell (254) 5.67 \$ 2,800.5	3-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(286)	5.66 \$	1,618.20
S-May-21 3.P., MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 2,502 5.56 \$ 1,418.4								11,871.88 2 800 98
6-May-21 J.P., MORGAN SECURITES AUSTRALIA LIMITED Equity Sell (412) 5.41 \$, 2,228.	5-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(254)	5.58 \$	1,418.40
Color Colo								13,910.05 18,988.01
17-May-21 J.P., MORGAN SCURITIES AUSTRALIA LIMITED Equity Sell (1,355) 5.33 \$ 1,7243;	6-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(412)	5.41 \$	2,228.92
10-May-21 J.P., MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 1,454 5.09 7,239.								2,588.88 13,244.74
11-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sel (1,215) 5.10 \$ 6,192-1	10-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(1,356)	5.33 \$	7,223.24
11-May-21 J.P., MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (1,215) 5.10 \$ 6,192-6		J.P. MORGAN SECURITIES J.P. MORGAN SECURITIES	AUSTRALIA LIMITED					7,399.70 7,836.98
12-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (348) 4.99 \$ 2,240.5	11-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(1,215)	5.10 \$	6,192.48
12.May-21								882.00 2,040.91
13-May-21	12-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(348)	4.94 \$	1,720.83
13-May-21		J.P. MORGAN SECURITIES	AUSTRALIA LIMITED				5.04 \$	3,032.94 4,391.34
14-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 220 4.93 \$ 1,227.5	13-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(92)	5.00 \$	460.00
17-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 540 4.94 \$ 2,667.5								2,363.93 1,227.54
17-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (181) 4.94 \$ 978.1	17-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Buy	220	4.93 \$	1,085.30
18-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (1,818) 4.66 \$ 8,476.5 18-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (1,818) 4.66 \$ 8,476.5 18-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (119) 4.75 \$ 5.565.2 18-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (119) 4.75 \$ 5.652.2 18-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (119) 4.75 \$ 1.2,830.6 18-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (500) 4.70 \$ 2,349.1 19-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (500) 4.70 \$ 2,249.1 19-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (477) 4.65 \$ 2,218.5 19-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (477) 4.64 \$ 2,213.1 19-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (128) 4.63 \$ 5.92.6 19-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (128) 4.63 \$ 5.92.6 20-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (128) 4.63 \$ 310.0 20-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (211) 4.65 \$ 981.1 21-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (211) 4.65 \$ 981.1 21-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (55) 4.71 \$ 259.0 21-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (55) 4.71 \$ 259.0 21-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (55) 4.71 \$ 259.0 21-May-21 J.P. MORGAN SECURITIES DUSTRALIA LIMITED Equity Sell (55) 4.71 \$ 259.0 21-May-21 J.P. MORGAN SECURITIES DUSTRALIA LIMITED Equity Sell (55) 4.71 \$ 259.0 21-May-21 J.P. MORGAN SECURITIES DUSTRALIA LIMITED Equity Sell (55) 4.73 \$ 236.2 21-May-21 J.P. MORGAN SECURITIES DUSTRALIA LIMITED Equity	17-May-21							2,667.60 978.12
18-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (119) 4.75 \$.565	18-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(181)	4.73 \$	856.13
18-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (500) 4.74 \$ 12,830.6 18-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (500) 4.70 \$ 2,349.1 19-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 477 4.65 \$ 2,218.5 19-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (477) 4.64 \$ 2,213.2 19-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (477) 4.64 \$ 2,213.2 19-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (128) 4.63 \$ 592.6 19-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 364 4.62 \$ 1,680.4 20-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 67 4.63 \$ 310.0 20-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (211) 4.65 \$ 981.1 21-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (55) 4.71 \$ 259.0 21-May-21 1.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 50 4.73 \$ 236.2 21-May-21 1.P. MORGAN SECURITIES LLC Equity Borrow Return (50,000) - \$ 21-May-21 1.P. MORGAN SECURITIES LLC Equity Borrow Return (50,000) - \$ 21-May-21 1.P. MORGAN SECURITIES LLC Equity Adjustment 505 - \$	18-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Buy	1,602	4.68 \$	7,503.67
18-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (500) 4.70 \$ 2,349.1	18-May-21							565.25 12.830.65
19-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (477) 4.65 \$ 2,218.5	18-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(500)	4.70 \$	2,349.11
19-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (128) 4.63 \$ 592.6	19-May-21							2,218.93
19-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 364 4.62 \$ 1.680.4	19-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(128)	4.63 \$	592.64
20-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Sell (211) 4.65 \$ 981.1								1,680.45 310.09
21-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Buy 50 4.73 \$ 236.2 21-May-21 J.P. MORGAN SECURITIES LLC Equity Borrow Return (50,000) - \$ - 21-May-21 J.P. MORGAN SECURITIES PLC Equity On Lend 4,354,220 - \$ - 21-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Adjustment 505 - \$ -	20-May-21	J.P. MORGAN SECURITIES	AUSTRALIA LIMITED	Equity	Sell	(211)	4.65 \$	981.15
21-May-21 J.P. MORGAN SECURITIES LLC Equity Borrow Return (50,000) - \$ - 21-May-21 J.P. MORGAN SECURITIES PLC Equity On Lend 4,354,220 - \$ - 21-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Adjustment 505 - \$ -								259.05 236.28
21-May-21 J.P. MORGAN SECURITIES AUSTRALIA LIMITED Equity Adjustment 505 - \$ -	21-May-21	J.P. MORGAN SECU	JRITIES LLC	Equity	Borrow Return	(50,000)	- \$	-
		5 STORIN SECONTIES		- Equity	rajastinent			